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6.1 Part 1 Ratio and Proportion

ratio- a comparison of two quantities

< 2:3 2 t0 3

Example 1 change larﬁyr whit

Simplify each ratio.
a) 6in W =6 ) 50cm _50w =5

D fte M=o 2 Ms 200 oM =5
! (
1 O]
Example 2 A= 3F
Simplify each ratio.
a) 4ft _4& b) 2 kme— 2obbyr
3yde 24 800m %bhyh v
4 S

23 2
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Example 3
The perimeter of rectangle ABCD s 60 cm.

The ratio of AB:BC i? Find the I%ngth
gl

and \A%d_th of the rect e. 3X=3~(o=10%

2y +2X + Bk +2LX= @0 2%
DX =60 ZX w
o 10
A ¢ B
| Zem X l%Cm x__._ C’ /57(
Example 4

The perimeter of the isosceles triangle
shown is 56 in. The ratio of LM:MN igXS_:fB(
Find the lengths of all sides of the triangle.

Sy +5X+ UX=D5p  LM=Din |

_L':"l(_:_lsk NI\-/—\=K7'1Y\ .
TR
X:L‘ N Ux M
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Example 5
The ratio of the measures of the angles of

a triangle are 1:2:3. Find the measures of
IX 12X 5 3%

the angles. v
Ix + 2X + %X =1%0 x={30"

bX =180  2x360
b b

x=50  3x={2V]

o

Example 6
The ratio of the measures of the angles of
a triangle are 3:4:8. Find the measures of

the angles. 2* X" 8x
2X + UX +8x= 18D = Bb°
15X = 1%0 Ux — 4g°
5 15 ,,
K= (2 8x—90
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An equation that equates two ratios is a proportion.
To solve proportions, you will cross multiply.

Example 7
Solve each proportion.

L
= 7_(7:+-2)
z= 2y + Y
Y’

X = 343
9 98

—

-2y

S BN O]

Example 8
Solve each proportion.
a) 3 - Xe_=2X b) 4w — I=_=2

2
6 2 2W - 3 3
ox =53 TN = 20w

VR A i
G

\

= ¢ qw-4 = -

i} At

3 w o= -5
(=4 | 3
W= - =
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Example 9

A diagram measuring 20 cm long is reduced on a copy
machine to 15 cm long. If the width of the original
copy is 16 cm, what is the width of the reduced copy?

original reduced TZSQ'-‘— ‘5%’
15 _ W
20 cm 1> cm 0l
i 20w =240
16 cm —
20 _ 5 lo _ W 0 20

Example 10

In a photograph taken from an airplane, a section of a
city street is 3.5 inches long and %of an inch wide. If
the actual street is 30 feet wide, how long is it?

235 _ XL
w ¥ 30
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Example 11

Lee is reading a 374-page novel. It takes her 6 days to
read the first 132 pages. At this rate, how many more
days will it take her to finish the novel?

122 pades _ 242 pages

—

b o'lmjs X days

132x =1452
137 32

(X =1l days

Example 12

The ratio of an object's weight on Earth to its weight
on the moon is 6:1. The first person to walk on the
moon was Neil Armstrong. He weighted 165 pounds
on Earth. What was his weight on the moon?

E o _ 165
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